S2 Table. Probability of adequacy values for iron for children 6 to 12 months old and children 1 to 3 years old, assuming 5% bioavailability. 
	Probability of adequacy
	6-12 months, 
10% bioavailabilitya
	6-12 months, 
total absorbedb
	6-12 months, 
5% bioavailabilityc
	1-3 years,
5% bioavailabilityd

	0
	<3.01
	0.301
	<6.02
	<3.64

	0.04
	3.02-3.63
	0.302-0.363
	6.03-7.26
	3.65-4.46

	0.07
	3.64-4.35
	0.364-0.435
	7.27-8.70
	4.47-5.54

	0.15
	4.36-5.23
	0.436-0.523
	8.71-10.46
	5.55-7.06

	0.25
	5.24-5.87
	0.524-0.587
	10.47-11.74
	7.07-8.35

	0.35
	5.88-6.39
	0.588-0.639
	11.75-12.78
	8.36-9.58

	0.45
	6.40-6.90
	0.640-0.690
	13.80
	9.59-10.84

	0.55
	6.91-7.41
	0.691-0.741
	14.82
	10.85-12.20

	0.65
	7.42-7.93
	0.742-0.793
	15.86
	12.21-13.75

	0.75
	7.94-8.57
	0.794-0.857
	17.14
	13.76-15.80

	0.85
	8.58-9.44
	0.858-0.944
	18.88
	15.81-18.94

	0.92
	9.45-10.15
	0.945-1.025
	20.50
	18.95-21.82

	0.96
	10.16-10.78
	1.016-1.078
	21.56
	21.83-24.52

	1
	>10.78
	>1.078
	>21.56
	>24.52


[bookmark: _GoBack]aValues from Tables 1-3 from IOM 2001
bCalculated total absorbed iron needed, assuming 10% bioavailability
cCalculated total absorbed iron needed, assuming 10% bioavailability (total absorbed needed when assuming 10% bioavailability*0.1/0.05)
dValues from WHO/FAO 2006
